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1) TEYdr FaeuEe Fatas STond g ST qEER a1 SheEntad veEer Hamdie
FEgT AT AT AL W HIOTAT TGN A=Y AT ATH?
1) 68 < TSI 2) 69 a7 GeAIGHHAT
3) 71 S GSATGHEIT 4) 70 AT TGS

Under which of the following constitutional amendments, the elected members of the

Legislative Assemblies of the Union Territories of Delhi and Puducherry were included in
the electorate for the Presidential election?

1) 68th Amendment 2) 69th Amendment

3) 71st Amendment 4) 70th Amendment

2) AT Sl EAT gTh d8ehid SURTEIl JardT Magud HTEl T3l Isgded Joardldl
IS TRAG WG DIV TSGR g TR 1?2
1) 17 o FeATgHEI 2) 21 &1 geATEH=T
3) 11 AT gl 4) 7 9 GGl

Which of the following constitutional amendments removed the initial provision in the
Constitution that the election of the Vice President should be held in a joint sitting of both
the Houses of the Parliament?

1) 17th Amendment 2) 21st Amendment

3) 11th Amendment 4) 7th Amendment

3)  RATAT SWRIEIAIETSd Yeies [aum [T = oy aver fur/~ stear.

3T) WA TS LT THF[EMAT haes Maitad Tewi=ar Mag #eahg sl ST,
) [ae Hes (Electoral College) 90T Bl AT HROTRAT IURTEIATAT HASUIRIAT T <aT

I ATEr.

I 39N

1) % T 2) T T

3 AR AT T 4) IR AR

Consider the following statements about the Vice President of India and identify the correct
statementy/s.

a) The Vice-President is elected by a selection board of only elected members of both the
Houses.

b) Challenging the election of the Vice President on the grounds that the electoral college
was incomplete Cannot be given.

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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4)

eI 9 feeRTd & S7for 9 faame/A sfiesa.

37) TSI, ISHAT, G [hal AR HROMMS APl 9& R<h A IIRIEIAr THRT
T T TehT T IIEIA I e,

) =l =l FRY STio7 &Y. SF. ST I THRE ATIAT I HIF hes TR,

I 3N

1) &eh 3T 2) Bh &

3) ARl AT T 4) T A T T AEE

Consider the following statements and identify the correct statement/s.

a) If the office of the President becomes vacant due to resignation, impeachment, death or
other reasons, the Vice President acts as acting President for one year.

b) V. V. Giri and B. D. Jatti has served as the in-charge president.

Alternative Answers:

1) a only 2) b only

3) Both a and b 4) Neither a nor b

5)

RIS Uer=T Haeuht It ey [y faemra =1 snfor @ fuams/A siear.

37) IIRTFIAT UT=AT FTSU[hIATS! fFATT 20 HdSR & YAt M0 20 HdSR & THIEH
U T H ITE.

) IWTEIAT TSTAT HaSvehid Iy ATUHEs=AT Tadi T AR Shad 9ogrel TTazaehal
e I dfed e TS B,

TG IR

1) b 3 2) Eh T

IR AT 4) TG A T F AT

Consider the following statements regarding the election of Vice President and identify the

correct statement/s.

a) For election to the post of Vice President, at least 20 voters must be proposers and 20
voters must be approvers.

b) Pandit Nehru had said that there is no need to involve the members of the state
legislatures in the elections for the post of Vice President.

Alternative Answers:

1) a only 2) b only

3) Both a and b 4) Neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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6) P hlATIhH AMET - (MR dL‘RIQL{dﬁI)

3N . . AREIOT ) . 3R TATS T
@) = = ey BRSAEEEG]

JIT I

1), & d, 3 2) e, %, 9, A

3T, T, &H, T 4HT T, A&
Arrange the following Vice President of India in chronological order.

a) K.R. Narayanan b) Dr. Shankar Dayal Sharma
¢) V.V. Giri d) M. Hidayatullah
Alternative answers:

1) c,d, b, a 2)d, c, b, a

3)d, b, a 4)d, b, a, c

7) IR SiTeAT/El M.
) HAH 67 - IWIFIA! YT HISU[H

) FHST 66 - IIRTTIAET HIIHTS

tl'ﬂ'hﬁ?ﬁli‘:
1) %h 2) &eh &
)R AT 4) T AT T AR

Identify the correct pairs/d.

a) Article 67 - Election to the post of Vice President

b) Article 66 - Tenure of Vice President

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

8) UeIe Ty faamra = Svfor ey foar=/~ stiesar.
37) IWTFIAT ISTER HIERT TAAHT Jg ITdohes FOThIA & ThHHT Shl 3Ted.
) IURTFUAT YSTAT HIIHIS YUT hedHdR AT T el hi-l P! [ S hes ITE.
T 3T
1) %<h 3T 2) th &
33l AT T 4) ST T T T AR
Consider the following statements and identify the correct statement/s.
a) Krishnakanth is the only person who died while holding the post of Vice President.
b) So far six persons have served as President after completing the term of office of Vice

President.

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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9) ﬁw SRT HRUGTEAT HIRATSAT APYATAT ATIHRIEET WIAGUADT HIvTd o=/ a5
/?
1) AT GATITTAT FTATEAG AT SATAT Teed AR TSI g 3hal.
2) TETAET AT ATIBR ARTAAT GATSAIHATAT Held I el
3) Al AR
4) TISUHT Tl ATEr
Which of the following statement/s is/are correct regarding the power of the President of
India to issue ordinances?
1) The President can issue ordinances only on the advice of the Cabinet headed by the
Prime Minister.
2) Ordinance power of the President is not subject to judicial review.

3) Both are correct
4) None of the above

10) Wiols Toedr [t wiord a4 ang sea?
;%ﬁﬁﬁEﬂWWWﬁW?ﬂ@W@W@ﬁ?ﬁaﬁW?§W$ﬁWW®$mﬁmi
m%ﬁw@wﬁwwmﬁﬁgﬂ@ﬁmwﬁmﬂﬁﬁwm%

3) el SRR

Which of the following statement/s is/are correct?

1) The power to appoint Chief Justices of the Supreme Court and High Courts is a judicial
power of the President.

2) It is an executive power of the President to establish the Finance Commission.

3) Both are correct

4) None of the above

11) WSS Ko asdeRt Hord [y ang smed?

3T) TRAT TN I ATATSATAT =TT ATRAT HATHRATS! Fare <AaTesard da

AT LT [T e 2T

) TEIATAT [ T ARSI ARG Mg AR 9 Aareard
EDSRICl
I

1) Fth 3T 2) &h &

AR T TT 4) T AT T AR

Which of the given following statement/s is/are correct?

a) The President of India may appoint a Judge of a High Court as an Ad Hoc Judge of the
Supreme Court for a temporary period.

b) The Chief Justice of the Supreme Court may appoint a retired judge to the Supreme Court
with the concurrence of the President.

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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12) Wole u =R =@r.
3T) EIAT U s AT a9 I IS &S Ui d IURTEYAT 6 ATR-II<AT Hraradr
T AT T SR Har
) IWEIAT 98 Rh ST o U FROARITS! MaeU[ 6 AT Sl SR el gl
SIS 3T

ED) ﬂgﬂ?—ﬁﬁﬂ@lﬁw RTINS el I AAGH Tegd™ ol i,
TASTRT HIOTA/ROTal TTU/A T 312/d?

gAY 39Y
1) 37 37T & 2) 3, § AMOT &
3) s 3T 4) 95 &

Consider the following statements.

a) In the event of a vacancy in the office of the President, the Vice President acts as
President for a period of 6 months until the election of a new President.

b) If the post of Vice President becomes vacant, an election to fill that post may be held
even after a period of 6 months.

C) Like the Presidential election, the election of the Vice President is also conducted by
secret ballot.

Which of the above statement/s is/are correct?

Alternative Answers:

1) a and c 2) a, b and c

3) only a 4) only c

13) TFUAT I[STIE (AT 356) THTd WISIGUDT AT [T/ 3MesaT.
3) <I§L4dh| NEESRGINE CH%‘I(%(*II RISYld <|§L‘I(‘Ihl S hHIG 3 Glﬁlcqud‘d o] <led.

) 4287 FEAGHEI, 1976 AT HHH 356 JAR APAA! SO FEEUIMET 6 Hig=arar

MTSHT HSTUT ThT THIAT ATSTITATT TAT.

) 44 AT GeATGEAT, 1978 T & AXE & BRI AT

T 39N
1) %eh o, T 2) Fh
3) Hh T 4) TAGIHT The! ATel

Identify the incorrect statement/s among the following regarding the President's Rule
(Article 356) .

a) President's rule remains in force for a maximum of 3 years in a state where President's
rule is in force.

b) By the 42nd Constitutional Amendment, 1976, the period of extension of President's rule
from 6 months was extended to one year under Article 356.

c) This provision was repealed by the 44th Amendment, 1978.

Alternative Answers:

1) a, b only 2) b only

3) a only 4) none of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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14) Wiols Taar Mt wiorg a4 ang sear?

3) AT AT hoedT T IPIATAT WIS IS TSl [aaaehiasdl IEad]
T3 THRTYRR A% 3ehdTd.

) IAFIAET 12 FSHAT JsTAHT AR HROFTET STAHR BT BB STIBR 3R,
T 39N

1) h 3T 2) oth

5aE ATT 4) ST T T T ARS

Which of the given following statement/s is/are correct?

a) The President can exercise qualified veto power in respect of bills passed by the
Parliament and sent for the President's signature.

b) The power of the President to nominate 12 members to the Rajya Sabha is an executive
power.

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

15) ITNg ST 3Nl
1) WWWWW-WH

2) TEIAE! HaSu® - HAH 55

3) MEAAT TSIATS =T - HAH 57

4) TFIrAT MR Togd - hoH 54

Identify the correct pair.

1) Matters relating to the election of the President - Article 71
2) Election of the President - Article 55

3) Qualification for the office of President — Article 57

4) Method of Election of the President - Article 54

16) WIGHIAUDI HITAT [THIH/ATIIRAT FEAHd e PRSI APAAAT A=
TSIl ATEr?
S EIEBINREBPED
ENESIERECRENE))
ENRCERECRED
qIT 3N
1) oth 3T 2) %h 9, b
3) YD T 4) OTH 3, F
Which of the following Bills does not require the prior assent of the President to be
introduced in the Lok Sabha?
a) Appropriation Bill
b) Finance Bill (1)
c) Money Bill
Alternative Answers:
1) a only 2) b, c only
3) all of the above 4) a, c only

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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17) Wil Toedr Mg wiora foam=/a ang sear?
EWWWWWWW
) ol Alfed! ATAPTAT AT T TFIASTY ool ST
TR 3
1) h 3T 2) ®th &

3) G AT T 4) SN T T T A

Which of the given following statement/s is/are correct?

a) The Chairman of the National Commission for Minorities is appointed by the President.
b) The Chairman of the Central Information Commission is appointed by the President.
Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

18) Ueiss T4 fa=RTd =

3) ST RIVTATT TG BIhTHT Y IgH [Hbd ATl ATdes] Gagar=r=ar Hagrardt 9

RSt TEudt wiaawIsR 9z,
) Tl T TATITE qUI TSATAT Akl HH 3T heh 37T

) GATIHHT AT AT B WBUR dd- F T T STrar.

I fqum/A stiesa.
1) Tth < 2) Bh &
3) Tk o 4) 99 [Tg™ SRER g

Consider the following statements.

a) The President can exercise his discretionary power to select and appoint the Prime
Minister whenever any party has not a clear majority in the Lok Sabha.

b) Monroe described the Prime Minister as the captain of the ship of state

¢) Prime Minister is paid salary and allowances as a member of Parliament.

Identify the true statement/s.

1) ¢ only 2) b only

3) only a 4) all the statements are correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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19) Wol® Toedr UM Hod /4 ang sea?
3T) IFIAr AT IWRIPIAE o da- [fgd 1.

) ITgeAd IIEIAIGT TaTaw b HRoAT HROT HBIAS 38,

T 3R
1) th 3T 2) ek &
3) aer AT 4) LT T T T AR

Which of the given following statement/s is/are correct?

a) Like the President, the salary of the Vice President is fixed.

b) The Constitution provides the reasons for the removal of the Vice President from office.
Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

20) Ui oo o= =i
) APIA! (IS HEITHIRT UiohaT FHASEAT ST &I 3 I AT AT AT T -
AT AT FRITIATER AT FHRIT AT 3R,
) AZIAT ISTEEA GT HROAATS! HEITHANT SEART AT SgHdrdl ATaeaehdl 373,

%) EITSIRT Teh 3T9-=11rh Uiehar 3TTe.

TRg faa/A e
1) &th 3, 9 2) Bh &
3) thth & 4) %<h 3T, &

Consider the following statements.

a) One-fourth of the members of the House of Parliament in which the impeachment
proceedings against the President are to be initiated must sign the bill of impeachment.
b) A resolution of impeachment requires a majority vote of Parliament to remove the
President from office.

c¢) Impeachment is a quasi-judicial process.

Choose the correct statement/s.

1) a, b only 2) b only

3) c only 4) a, c only

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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21) TS 0T degqltn 3T YR Jsgged 3Te?

3) d“l(l&bldl YlHl 0|'>|¢|0h|06
) IWTIAST TSTGST HIeUITHT HETaT wlishar
66) Wﬂqﬁaﬂgﬂ?ﬁwﬁ % BTehd AT IURTETAT AFAAET B IR ITSdis.
TSI G g a3 fHaer
1) <h 3T 3Mfor & 2) Wth 37 ITOT &
3) Theh & 30T & 4) STR F9
Which of the following provisions is/are mentioned in the Constitution of India?
a) Tenure of office of Vice President
b) Procedure for removing the Vice President from office
c) The Vice President shall perform the duties of the President when the President is unable
to perform the duties due to illness.
Choose the correct answer from the following options:

1) a and b only 2) a and ¢ only
3) b and c only 4) all of the above
22) WISIHYHT IV IR ST M@ ATAT ARG 3 gha?
37) HETSEIReS T FEa®
) HEITETET
Wﬁbf?)?l%‘(:
1) Feh 3T 2) BTh ¥
AR ATT 4) LT N T RS

Who among the following is appointed by order of the President with his signature and seal?
a) Auditor General and Comptroller

B) Attorney General

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

23)  UdVYHTSTEd Wl Uehl SivTd [um/~ I 3me/d?
31 YA HARTS & Mg el
) q’?wr%ﬂ:ra e comwTWWaTW am?ﬁ
55) <|°‘<‘I’<4C"|('||® hAH 74 5‘|*°|<4| <|$’<L‘|(‘II L4(‘|$f|7¢4|"||‘t4| |"|<;l)‘('h| onrdld.

T 3
1) ®th & 2) Hh 3T AOT &
3) Theh & STIOT & 4) TSTRT Fa

Which of the following statement/s about the Prime Minister is/are correct?

a) The tenure of the Prime Minister is not fixed.

b) The Prime Minister is a member of the Lok Sabha or Rajya Sabha of Parliament.
c) The President appoints the Prime Minister under Article 74 of the Constitution.
Alternative Answers:

1) b only 2) a and b only

3) b and c only 4) all of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24) IS HAH 74 TH WISIGURT HIVTAT dRdE HROATT ol TE?

1) AlEMAE® AFERRAT BIATHST SETaaR 3TH.

2) GATL IPAAIhgT HIth s SITATd.

3) ARG TaTaiRIeid UHoT Hial JSAT AihTHdicy THoT Aadrer 15% el
ATIH TR TEL.

4) JFIANT e T AT 0AThdT AHSS TS

Which of the following provision is made in Article 74 of the Constitution?

1) The Cabinet is collectively responsible to the Lok Sabha.

2) The Prime Minister is appointed by the President.

3) The total number of Ministers including the Prime Minister in the Cabinet shall not
exceed 15% of the total members of the Lok Sabha.

4) There shall be a Council of Minister to assist and advise the President

25)

GTSTAUDT T [U/A 3o,
M) HSH 53 TAR, TRAT TSI HRESRT ATIHR AFIdhe IRAAT.

[N aN

) AT FESvE AR MERE Y e WO aewi sMEdfawdE Aoy 9

%) IFTAT FTARRTSATT UREE IUTI He 2Tehdl.

T 39N
1) %h 3 2) Beh A, T
3) h W, & 4) THURT TS

Identify the correct statement/s from the following.

a) According to Article 53, the executive powers of the Indian Union are vested in the
President.

b) The President may take decisions on the disqualification of Members of Parliament in
consultation with the Election Commission.

c) The President may constitute an Inter-State Council.

Alternative Answers:

1) a only 2) a, b only

3) b, c only 4) all of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



13 TR WSS TRAR
26) U&Ie [9u =R =
3) Sie] AHSTAT ST e ATAAS =g T T ALY AT HIG Zehell,
) A¥AE T TR HRIET Hs 3ehd AT [AYATaR IFIAT TRl HIg hdd.

) ITATSINET FHHIG HIATTHUT F&T Al HET AT IART Tl

CEIRIIEGESE
1) 99 a9 e 2) 99 U =T T
3) %eh 9 & IRT 4) Fth & IT

Consider the following statements.

a) The President can issue ordinances only when both the Houses of Parliament are not in
session.

b) The President can issue an ordinance on the same subject as the Parliament can legislate..
¢) The maximum duration of the ordinance is six months and six weeks.

Alternative Answers:

1) all the statements are correct 2) all the statements are incorrect

3) only b and c are correct 4) only c is correct

27) WO fechedr Ta=dehl ST [y I 3med?
) I IR AU JPIAT &R HeS ST
) APTIATAT FHAH o =ATATST YT BT Tegdl g Wlshar aia g8 o)
IBREECECEIER
T I
1) Tth 2) Bh &
3 e AT T 4) IEr T T F TR

Which of the given following statement/s is/are correct?

a) Acting Chief Justice is appointed by the President.

b) The Supreme Court may, with the concurrence of the President, make rules to regulate
the manner and procedure of its work.

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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28) WIAIGUDT HIUIAT Fedrd Tad IS ATIATST AR HIEUITAT GEETEd
TRILFTAT BRUMERA AATGATT R < Id 3R TSy 3R?

LRIEIIG R
1) S T, SrYer "eoT 2) FR GIA
3) ASTARTIIT GAH 4) IGATY T GEH

In which of the following cases the Supreme Court has held that the validity of the
President's Ordinance can be challenged in court on the ground of mala fide?

Alternative Answers:

1) D.C. Wadhwa case 2) Cooper case

3) Rajnarayan case 4) Raghunath Rao case

29) WIHGIHR! TSTICHAIS HIVTAT HAHHT TAR HRA AXBREAT T el AFIATAT AT HedT
ITed I ATHA™ oy IMR?
1) sha3H 75 2) 3 H 78
3) ShaH 77 4) hHH 53
Which of the following articles of the Constitution states that all the acts of the Government
of India are done in the name of the President?
1) Article 75 2) Article 78
3) Article 77 4) Article 53

30) WIS [ShedT (TRl ST [um/~ I 3med?
3) BRI FIASIa SR JEHSS Uaaes g 2.

) ITISHAS HAHH 74 TAR HEHSEH IFTATA [T HAeedTaTad HIOTATE! =TTSATT

TS IUIT HaT I Tal.

T 3N

1) Teh 3T 2) &h T

5 ael AT T 4) ST AT T AR

Which of the given following statement/s is/are correct?

a) The Cabinet is removed from office when the Lok Sabha is dissolved.

b) As per Article 74 of the Constitution no question can be raised in any court regarding
the advice given by the Cabinet to the President.

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31) Wold Qe [T sivre faamA o smear
) TA. el IgT & MATdd iR MagT Jum TewAa I 3Ted.
) =l =1, PR Jata wHT 7air Feag ees I 3TTed.
T I
1) & o 2) T T
3) FRT AT 4) ST T T T ATE

Which of the given following statement/s is/are correct?

A) N. Sanjeev Reddy is the only President so far to be elected unopposed.
B) V. V. Giri is the President elected with the lowest number of votes.
Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

32) IR AU s,
3) ASISAAT I AT HROMEEA AFAART ATAT GSERA Rl U,

) AFIAT TSR G HRUATATST HEIHALTET S & JAd13T Sgaar HsR alol a2
ITE.

&) WETHARTRIS ST UTsha =T IHaTd hIOTATe! THFIEN g% Hhoil ST 3Tehd.
IO 3T

HATT NEEEED

HATH 4) TAGUR T

Identify the correct statements.

a) The President can be removed from office on grounds of violation of the Constitution.
b) A two-thirds majority vote is required to impeach the President to remove him from
office.

¢) Impeachment proceedings can be initiated from either House.

Alternative Answers:

1) aand b 2) b and c

3) a and ¢ 4) all of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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33) I U 3T,
3T) AT AT AHIAT T ITTHIAT IE Reh ST AT YaTaR 3% bl FH0h
HIAT.
) AT AT BIVTATET SFHT T 7 UM G He 2T,
&) GATTITS AR HISTATIAT AFA AT JaAHdT ATTZIH A=
) HIRAT HERATIETET AFAATAT AT I UROT FHAT.
1) 31, § 3nfor & =g 2) ¥, &% 0T § AT
3) 3T, & 30T § AT 4) THTHr AT T

Identify the correct statements.

a) The President appoints another person to the post of Rajya Sabha Speaker and Deputy
Speaker if vacant.

b) The President can designate any area in the country as a Scheduled Area.

c) Prior assent of the President is not required before introducing the money bill in the
Parliament.

d) The Attorney General of India holds office at the pleasure of the President.

1) a, b and c are correct 2) b, c and d are correct

3) a, b and d are correct 4) all of the above are correct

34) Wole el ATl ISAgAR (3TIehH) ANAhH 3TibET.

37) YRAIE WTH I<hl ) ATl AT

&) TSI GATTT ©) JuTeHeT At AT

IR 3TN

)4, s, &, A ), 3, e h

3) 9, E, &, 3 4) 39,8, H

Identify the following terms in the correct order according to their superiority (priority) .
a) Bharat Ratna recipient b) Former President

¢) Former Prime Minister d) Vice Chairman NITI Aayog

Alternative Answers:
1) b, d, c, a 2) b, a, d, c
3)b,d, c,a 4) a, b, d,c
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35)

TSI fedaam frumiteRr sivra a4 ag smed?

3T) AP 3 FHIER, FHAT, IET-TR g AMOT SHOT-SE AT hezMad Jezlidie
TN, 2Tiadarel e &% 2Tehard.

) TRl [arre T fSafSia fehar Mafed s dere gl Jg=RIAS! o % 2rehdra.
T 3TN

1) %eh 3 2) hth &

3 TR AT T 4) el ¥ 9 9 TS

Which of the given following statement/s is/are correct?

a) The President can make rules for good governance, peace in the Union Territories of
Andaman and Nicobar, Lakshadweep, Dadra - Nagar Haveli and Daman - Diu.

b) The President can make rules for Puducherry only when the Puducherry Legislative
Assembly is dissolved or suspended.

Alternative Answers:

1) a only 2) b only
3) both a and b 4) neither a nor b
36)  TANT [T 3fioaaT.

3) TR IS HESUE BRUETATe! geHd Sl SIEIIaT Sxace! ATal.

) AT FITSURIATSr 3TsT TIER HAMT 50 HASTAET YIS d- 30 A TIHIEA
ATTTIH A

&) AFIAT ISTISHAIS FHSHH 60 THAR THE HedTIHTT 31T T,

¥) ARAY ge-d IWEIAE g ST Fe+ae- duard 3 37,

T I

1) WSTR T 2) ¥, § AMOT &

3) &, § 31T 3T 4) § 30T S

Identify the correct statements.

a) No maximum age limit has been fixed in the constitution for contesting the election of
the post of President.

b) The support of 50 voters and the approval of 30 voters are required while submitting an
application for the election of the President.

¢) The President administers the oath as prescribed under Article 60 of the Constitution.
d) The post of Vice President in the Indian Constitution is taken from the US Constitution.
Alternative Answers:

1) all of the above 2) b, d and ¢

3) c,d and a 4) b and d
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37) WSS fehedT =il S [aum/~ e smed?

3N YRAT HISHSAT T HTedT Tegdlar TURGG 3TT8.
) APTAT FACHSAT ST 9IT 3Te.

TIET 3TN
1) ®h 3 2) Wh &
3) ARl AT T 4) I A T T AT

Which of the given following statement/s is/are correct?

a) The structure of the Indian legislature is based on the Canadian model.
b) The President is an integral part of the Legislature.

Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

38) WIicUehl hioTT IRREAI IFAAT WAAT [ Hdl s 2hdl?
) BRI fFuT Reg 7 % Thod AHHes Ug=d Rl
) ARHERM g SHIEHAR BT [a-fsid ol
) BIHAHT TgAd THGHAT THTAT THETST AT IUTIAATST Fsaor.,
T 3TN
1) Bth T T F DHEHITTH
3) th T T H 4) RSTR F9
In which of the following circumstances can the President act at his own discretion?
a) Dismissal of the cabinet which fails to prove confidence in the Lok Sabha
b) Dissolution of Lok Sabha after cabinet loses majority.
c) Calling the leader of the party which does not have a majority in the Lok Sabha to form
the government.
Alternative Answers:
1) a and b only 2) b and c only
3) a and c only 4) all of the above

39) WIS [TU ST &1 § I 9917 Hder.
3T) TP $TAT FHRoATAT ATIHR B ATTHIRYUNIT o ATal.
) AFIATT &TAT HoATET YRR BT HABRT TR ATIFR 3ATE.
&) IT ATISHRIET ITIR FHRAMT AFAAT & IE AP ATATGT T DI e ATal.
1) WS I Y 2) %th A 9 F IRT
3) Weh 3T 9 & I°T 4) Bth § & I
Consider the following statements and choose the correct option.
a) The President's power to pardon is not independent of the Judiciary.
b) The President's power to pardon is an executive departmental power.
¢) In exercise of this power the President does not act as an appellate court.
1) all of the above are correct 2) only a and b are correct

3) only a and c are correct 4) only b and c are correct
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40)

T feosear faum=iddhr siord faamA 9 smea?

) I FATGHATASG ATATHEIET THUT FEAT ST ATIRR & IAPIArar WSITIRR
3.

) ATIATAT &THT HRUGTAT ATARRIT HIET HROTAT ATIRER TS A GGRT &I
TThd.

T I

1) ®th A 2) ®ch

3) & AT T 4) SN T T T A

Which of the given following statement/s is/are correct?

a) Power to decide the total number of judges in the High Courts is a discretionary power
of the President

b) The President's power to pardon is subject to judicial review on grounds of some cause.
Alternative Answers:

1) a only 2) b only

3) both a and b 4) neither a nor b

41)

Groe [T ST &1 9 999 99T Fder.

37) A A hohor [T ASTIA AFIATAT ARSI ST AFAAT [TSFRTA
FHAT 23 Zhdl [ohdT HHAT AT ZThdl.

) ¢ [99s I9a e AdETel IPIAIe IR A1eR ey ¥ 32T [THehier AT 2ot
JPIAIER SThRS ARl & 5T geAd W hoos 8.

1) 37 I 2) ¥ Iy

3) Srel 3T 4) <81 Iy

Consider the following statements and choose the correct option.

a) If the bill passed by the State is reserved by the Governor for the consideration of the
President, the President may give assent or withhold assent to the bill.

b) If the Bill is passed and returned to the President for assent, it is made clear in the
Constitution that the President is not bound to assent to such a Bill.

1) a is correct 2) b is correct

3) both are incorrect 4) both are correct

42)

WTATGUHT ASTISHAT HIVTAT AT hided FTIRR T HY [SHeT IEa?

1) & 75 2) HAHH 352

3) HAH 74 4) IR TR

Which of the following articles of the Constitution gives the powers and functions of the
Cabinet?

1) Article 75 2) Article 352

3) Article 74 4) None of these
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43)

o (U S8 =1 9 aeg g3y e,

3N G OIS HEHESMT IS T 1T IUSATITel F9E3T Bidl 379 9d= 9 9 Il 1952
T "o IMe.

) hiod-edTl Agl APIAER TUTRRS Tl

1) 37 I 2) § I

3) Tl 3T 4) IT AT

Consider the following statements and choose the correct option.

a) The Pays and Allowances Act, 1952 says that a Minister means a member of the Cabinet
and includes a Deputy Minister.

b) The advice of the Cabinet is binding on the President.

1) a is correct 2) b is correct
3) both are incorrect 4) both are correct
44) WY AT [T AR S50 I [Farm/4 Fasrn
37) "edich WRT 17 AT ShehH 350-B T ATHT 3gd 3R,
) TS TCITCATHATSHT 92T ATIHRT AIST JEATS AR TG el
F) 1957 T g (92 ug fHHior SRvara o1,
T 3N
1) % 3T 2) 31 anfor &
3) 3T, & MMOT & 4) 3T SOT &
Select the correct statement/s regarding Linguistic Minority Special Officers.
a) It is mentioned in Article 350-b of Part 17 of the Constitution.
b) The Special Officer for Religious Minorities submits his report to the Parliament.
c) This special post was created in 1957.
Alternative Answers:
1) a only 2) a and b
3)a, band c 4) a and ¢
45) Wolo fum S8 = g I g9 M.

37) ITSTISHAIS | 17 TS FHAH 350-A § Ge-dies WFT IR A ANTE3S dodl SR
g% AFIS3h d 3Te.

) FHGH 350-A B IV FIASATh IETdlc AT TS 1A Jafed 1.

1) 37 I 2) § g

3) Q! STANT 4) TT AT

Consider the following statements and choose the correct option.

a) Article 350-A of Part 17 of the Constitution is another directive principle apart from Part
IV of the Constitution.

b) Article 350-A deals with primary education of children belonging to linguistic minority

groups.
1) a is correct 2) b is correct
3) both are incorrect 4) both are correct
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46) Wole U f=arT =
37) IeHTYd FHISAIS HIVTATRT A8, FRIR, JHehd ATal HATAR AT <ATATGA ATIAAT AT
2 FYTHRS 3.
) AT T (S AT ARSI A IPAATTR. SUTHR S I

CEIRIIEGESE
1) fum 31 I 2) = ¥ I
3) Sliel faa ag 4) e foum st

Consider the following statements:

a) The Supreme Court is obliged to advise the President on any pre-constitutional treaty,
agreement, indication etc.

b) The opinion of the Supreme Court in this matter is binding on the President.
Alternative Answers:

1) statement a is correct 2) statement b is correct

3) both statements are correct 4) both statements are incorrect

47) Wl U ST &7 909 99T Hael.
3) (Ig“idﬁl(*)l W Célchgcll d‘llﬁl‘lla T YT I tli"ll YUgldad ? RVl HdldR
AT TSI [ToaT Agh IPIAER SUTHRS SRAd!
) IS SRNTT=AT STIHET HIHIe T SITdTd.
1) 31 I 2) ¥ AT
3) grel 3T 4) <81 g

Consider the following statements and choose the correct option.

a) The President is bound by the advice given by the Supreme Court on the removal of the
Chairman or member of the Union Public Service Commission from office.

b) The term of office of the Election Commission Commissioner is decided by the President.
1) a is correct 2) b is correct

3) both are incorrect 4) both are correct

48) ITSTIEAI WIGIGUDI HIUTAT HAHT TAR TATI & JAFAA! 0T HAHSS IreATdIH gaTl
U plH hdld?
1) ST 75 2) ST 77
3) HAT 74 4) AT 78
According to which of the following articles in the Constitution, the Prime Minister acts as

a link between the President and the Cabinet?
1) Article 75 2) Article 77
3) Article 74 4) Article 78
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49) T MATOFgea™ J9d Hhoey dAIadTe I9Ts IPIAAT [IaRTe G 3 2Tehdrd.
3T) AFPICAT TSI H IR I1eq ZTehd ATal.
) APIAT ATTITRST AT G 39 T,
&) MFIAT TATIIRGT AT TG 3 31hd ATal.
TASTRT HIOTAT fram I e
1) 37 fOT § 2)  3nfoT &
3) 37 3T & 4) THYhT Tehgl ATer

A money bill passed by the State Legislature may be reserved by the Governor for the

consideration of the President.

a) The President cannot remit the Bill.

b) The President can reserve assent to the money bill.

c) The President cannot withhold assent to a money bill.

Which of the above statements are correct?

1)aand b 2) b and c

3) a and ¢ 4) none of the above

50) XTEUAr WS Wole [T9 SeTd &1 G I a1 Mder.
3T) AFIAT AT ThITHh HIT SRTA JIBAAIGT AT [N Br] TTed.
) NARTEIT UTdSERT T =R, ITerdiel F HurT AU di= Thes STrard.
1) 37 9 2) ¥ Iy
3) Svel 3T 4) gl Irg

Note the following statements about the President and choose the correct option.

a) Parliamentary privileges are applicable to the President as the President is an integral
part of the Parliament.
b) All international agreements, negotiations and decisions are made on behalf of the

President.
1) a is correct 2) b is correct
3) both are incorrect 4) both are correct
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